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Answer all Five questions from Group B, each question 

carries 5  marks.
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Old Syllabus
What is sub cooling in vapour compression ? 

Writer its effect on refrigerating effects.

05000KJ/min heat is extracted at -10 C by applying

50 KW power then find :

(i) C.O.P

(ii) Rejection temperature 

5000KJ/min 

0-10 C 50 KW 

WBT and relative humidity lines on it.

OR

10

7.

8.

10

10
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)        A machine in which interior temperature is 

less than surrounding is:

(a) Evaporator

(b) Boiler

(c) Refrigerator

(d) Heat pump 

One ton of refrigeration  is equal to:

(a) 210 KJ/minute

(b) 3.5 KW

(c) Both

(d) None of the above

OT3004OT3004

Answer all Four Questions. 
10 x 4 = 40

Write five processor to produce refrigeration and

describe one of them.

effect is 1 TR, then find the work input. If 

0 refrigeration temperature -5C, then find 

rejection temperature.

6.

OR

10
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(iii)

(iii)

(iv)

(ii)

Steam pressure from steam table is in:

(a) Gauge pressure

(b) Absolute pressure

(c) Vacuum pressure

(d) None of the above

Value of C.O.P. of a refrigerator is generally:

(a)  Less than one

(b)  01

(c)  More than one

(d)  None of these

OT3004 OT3004

Define DPT, DBT and WBT.

DPT, DBT WBT 

then find DPT (Dew point temperature)

DBT 30 C 

chart. 

psychrometric chart.

4.

OR

5.

5

OR

5



41311304 11304

(v)

(v)

(vi)

(iv)

OT3004OT3004

Which one is not thermodynamic property

(a) Pressure

(b) Temperature 

(c) Density

(d) Heat

Value of         for air is 

(a) 1  

(b) 1.4

(c)  1.8

(d)  2

Cp
Cv

A gauge pressure of a pressure gauge is 710 mm of 

Hg then, find absolute pressure.

types.

A carnot refrigerator produces one ton of 
0

refrigeration  at -25C by using 60 KJ/minute 

energy, then find the COP of refrigerator.

1 Ton -25C 

3.

5
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(vii)

(vii)

(viii)

(vi)

Answer all Four Questions. 

2.

5 x 4 = 20

(xx)

OT3004 OT3004

Horizontal line on psychrometric chart 

represent:

(a) Enthalpy

(b) Constant specific humidity

(c) Entropy

(d) All of above

Generally used refrigeration cycle is:

(a)  Carnot

(b)  Bell-coleman

(c)  Reversed carnot

(d)  None the above

Cp
Cv

Define open system and closed sytem.

5
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In sensible heating............remains constant

(a) Temperature

(b) Enthalpy

(c) Density

(d) Specific humidity

During sensible cooling the DBT.............

(a) Decreases

(b) Increases

(c) Remains constant

(d) None of these

(ix)

(ix)

(x)

(viii)(xviii)

(xix)

(xx)

(xix)

OT3004OT3004

Air refrigeration cycle is used in:

(a) Domestic refrigeration

(b) Commercial refrigeration

(c) Air- craft

(d) Central air condition

In throttling process..........remaing constant:

(a)  Entropy

(b)  Enthalpy

(c)  Temperature

(d)  All of the above
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(xvii)

(xvii)

(xviii)

(xvi)

(xi)

(xi)

(xii)

(x)

OT3004 OT3004

Wet bulb temperature is a measure of 

(a) Relative humidity

(b) Specific humidity

(c) Degree of saturation

(d) All of the above

The refrigerant commonly used in vapour

absorption system is:

(a)  Water

(b)  SO2

(c)  CO2

(d)  Aqua-Ammonia

Which of the following refrigerants is used

in refrigerator:

(a) R-22

(b) CO2

(c) SO2

(d) None of these

In adiabatic humidification - remains constant:

(a)  Enthalpy

(b)  Entropy

(c)  Temperature

(d)  Density
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(xiii)

(xiii)

(xiv)

(xii)

(xv)

(xv)

(xvi)

(xiv)

OT3004OT3004

Refrigeration takes place in...............in 
vapour compression refrigeration system:
(a) Condenser
(b) Evaporator
(c) Compressor
(d) All of these

The air in which maximum amount of water
vapour is diffused known as..............air:
(a)  Humid
(b)  Dry
(c)  Saturated
(d)  Unsaturated

The function of halide torch is:

(a) Detecting leakage of refrigerant

(b) Facilitating better lubrication in the

      refrigerator 

(c) Both

(d) None of these

Theoretically the most efficient refrigerating

cycle is:

(a)  Bell coleman

(b)  Joule

(c)  Reversal carnot

(d)  None of above
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0= 30 C, RH =55% Atmospheric pressure = 1.012 bar

then find:

(i) Specific humidity

(ii) Vapour pressure 

(a) Throttling process

(b) Condenser

(c) Evaporator

OR

9.

10

0= 30 C, RH =55% Atmospheric pressure = 1.012 bar

then find:

(i) Specific humidity

(ii) Vapour pressure 

(a) Throttling process

(b) Condenser

(c) Evaporator

OR

9.

10

1711304 OT3004
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OR

WBT, then find:

(i) Relative humidity

(ii) Specific humidity 

40C DBT 25C

WBT, 

***

18 11304OT3004

OR

WBT, then find:

(i) Relative humidity

(ii) Specific humidity 

40C DBT 25C

WBT, 

***
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